HIA - R 2020/9/19 FH R R —
iRz SF2EF BT ERREHRE RS b EFiiks
B4 P gt el Tl /NS /N el o R FLEREAT e ]
B dbilu FEEET FrRETE RS a2 b 4 s EikE BB e
B+ EE VA 205t RYivA Af5r 5{r 6/ hE 8z
) & 16.41 (-1.2)|A L &N 16.85 (-3.5)|dh#f &= 16.91 (-1.2)[ iy # 1758 (-3.5)|F=2 #H=3} 17.81 (-2.3)[3mT  Hsk 17.86 (-2.3)|E® & 17.98 (-1.2)|tkEE &= 17.99 (-2.3)
INEAELIT R+ | 9A19H 100m ) ) ) ) ) ) )
LIE7TFC LIE7TFC LIE7TFC LI£7TFC LIE7TFC LIE7TFC LI7TFC LI7TFC
9H 191 200 A E 2:58.00|1A1L  &RAN 3:05.16|3 £ KER 3:05.27|EHE  AERS 31173 |EH#E &= 3:15.24{=AK ZAKEB 3:17.61|E L HH¥E 3:17.73|xf #*& 3:19.07
" LIE7TFC LIE7TFC LIE7TFC LI£7TFC LIE7TFC LIE7TFC LIE7TFC LIZ7TFC
) EE BK 13.95 (-2.6) [T Rk 14.82 (-2.5) 8K @ 14.98 (-2.6)|&4 B 15.03 (-2.5)[#A  #H 15.31 (-2.1)|&%F &KX 15.95 (-2.5)|&M@ f2F 15.98 (-2.6)[# A &= 16.44 (-2.5)
INEEG < B4R - 9H19H 100m
LIE7TFC LIE7TFC LIE7TFC LIE7TFC LI£7TFC LIE7TFC LIE7TFC LIZ7TFC
oA 198 1500 FaIEs L% 5:17.91|RAE B 5:18.09|17TA  &l.0s 5:47.70|17% MEX 5:51.27| &M 1 5:53.58|H#E ER 5:55.33| H+/E  1&=) 6:04.96|5H 5= 6:08.74
" LIE7TFC GR|LI£7-TFC GR|LI£7-TFC GR|LI£7-TFC LIE7TFC LIE7TFC LIE7TFC LI7TFC
s T 91911 100 BR 7LV 12.43 (-1.0)[ 1L & 12.90 (-1.0)|E+E BEF 13.18 (-1.0)|[/ bk E 13.26 (-2.2)|&F E#B 13.56 (-1.0)[#aE 0F 13.58 (-3.0)[tkBE B4 13.59 (-3.0)[3k & 1E¥R 13.66 (-1.0)
- m
” HrHEM-FE—rh M- KESFF HrEH-EF HrHEME-EHH HFEE-AALF HFEE-AALF HHEME-F—F HEMA- A $
A 19H 1500 % X— 5:14.30|#0 L #Rk 5:18.85|H7K Bt 5:21.56|E& ®iH 5:35.02|85AK K 5:43.66[E& 5:48.84|118E @& 5:52.04[ LA R 6:07.55
m
HrHH - AAL HrHEM-IRER HrEH - AAH HrEM-EHH HHEME-F—F HFEME- TP HHEHE-IRER HFEME- TP
ER/N 1B 11.34 (-0.7)| M #1 11.62 0. |AH &K 11.96 (-0.7)|[tkBE &KX 12.18 (-0.7)|FHFE et 12.32 (-2.2) BiE BKED 12.43 (-2.2)|5&BE B+ 12.44 (-0.6)
N FHRM-F—h #NAME?[Fr %M - 03a) | & HrEM-EHH HrHEM-E—rh HFEE-AALF HFEME-E2HTR HFEE- AT
R0 3 - 9H19H 100m
A IEK 12.32 (-0.7)
M- A S
o198 | 1500 hF B 4:21.43(PE8  EABk 4:2339RHF  HE 4:28.08(5H =8 4:30.44\125  EEE 4:4854|815 4:49.64[ 0l =4 4:50.26|=4 14 4:51.67
m
HrHEME-EHFH HrEH - AA HHM -4 ARt HrEH - AH FHEHE-IRET HHEHE-IRET HHEME-F—F HFEE- AT
ER/N 1B 22.98 (-1.9)| M 23.63 (-2.3)|AH T 24.26 (-1.9)|1E#E &K 24.55 (-1.6)| BB & 25.54 (-0.6)|AHK HEAK 25.68 (-1.9)|1F#E 4= 25.86 (-0.6)|MM 4L 26.44 (-1.6)
e il 9A19H 200m | A . - N N N - A N n N N
HrHEM-FE—h FEM- a1 T HrHEME-EHH HrHEM-E—rh HFEH- TP M- AP HFEME-E2HFR HHEME-E2HT
9H19H 100 WE X 58.68|EHE B+ 1:01.62|5%BE &R 1:03.70:8M EE 1:08.87|%=rF &F 1:09.01[;8M B35 1:10.64
m
HFrEM-E4 AP HFEH - A A M- KESF HrEH - ) F HFEME- AP HFEE- AP
9191 200 i 8K 2:15.55|h8 BHE 2:25.09|tLl fEAE 2:29.42| 88 &HR 2:34.46|F 8% K— 2:36.99| 1% HiE 2:38.20|'E%& #H 2:46. 75|82 1A 2:49.39
m
HrEM-EHH HFrEM-E4 AP HEE-F—F FrEE-KESFSP HFE - AAF WRE - LEFH HHEME-E2HFR FFEH- - HF
9191 3000 P oE 9:47.29|7A iR 10:29.03|EFH  #X 10:45.88|% 4 fRs} 10:45.94|A+& X 10:57.82|=4 14 11:15.22|FE B3 11:19.62| &/ 8K 11:29.36
m
FrFEE- AN M- KESH HrFH k4 AR HFrEM-E4 AP WHEE BB HFEM-AALF WRE-REF HRE-LEFH
FrEm- EHhA 46.54|FTFHE - EHA 49.17|3rFM - E—PhA 49.19(FTFHE - AALFA 49.82|FTFH -4 A 51.21|FrHE - A+ 51.40|FT %M - 2H+B 52.84|#FMH-E+B 53.70
=N KR EIE BR 7LV mEE BEL LA #,% BT BT PR B B s
9HI19H | 4x100mR |fFEE 28 FEE & EBE EX N Ze +TH K= FAE B g R PR BE
aH B =R KAl KA BKR EA/N 4L wBH HE =R &A1 IR EE AE KE
WE g1 BiE & Sl FEE N =iE BZ HE ER ERE R AtE 'S
AN AL 140|EWN =5 1.35
9H19H Empk | N
FrEM-ANH FrFEHE-EF
9191 — B #RABE 5.72 (+1.9)|ihlg 2N 5.36[E0 Bt 490 (+1.3)|FEE & 489RF EF 4.89 (+1.2) |8 12 447 (+2.0)|H#mM =& 4.36 (+1.3)| &) Dok 4.28 (+1.1)
; M- EHH FERME-KEFH HREH- AT HFEH-FHH HFH- A HRH-LEFP HRH-LEFH HRH-LEFH
R £t 11.87|RF & 9.26|&#H KA 8.98| A&+ K— 7.73
9H19H | fahik | N N N
R KEFH HrFEM -4 K HFH-FHP HRH-E4 AR
91911 o R FFH 3057|dE =T 20.67|&R KA 23.28|E+E K= 21.66(h8F BEEE 19.97| A+ BEZB 15.61
HFrHEM -4 AR FERME-KEFH HFH-FHH HFH-FHP HREH-AALF HRH-LEFP




HIA - R 2020/9/19 FHR R —
s ez SF2EF BT ERREHRE RS ke EFiiks
jiiRs e P gt el Tl /N /N el o R FLEREAT g =
ERdbilu FrEEET FrRETE RS a2 b 4 s EikE BB e
B+ EE VA 2/iF RYITA Afr 5L 6/ hE 8z
BT B 11.37 (-2.5)|#HE  # 11.38 (-2.5)[7EE Yt KEB 11.42 (-2.5)|F%E MK 11.64 (-2.9)|&F #&A 11.72 (-1.9) BB BE 12.02 (-2.2) [ &1E 12.05 (-2.9)
. IrREERAL HrEmm HFHEMTFC HFEMETFC M FHE HrHEHE HKERE
ke — i 7 9H19H 100m
EE2 £7 11.72 (-2.9)
IR EEGEIL
A 19 100 Ty & 49851k RE 52.69|EE #EA 52.89| &K A 53.58|FR A 55.33|8% HE 55.49| =% ik 56.40(48E S2 56.85
m
IrREERAL HrEmm HrREEEAL HrH M HrHH R H PR FRERMEE HrHEHE
A 19 1500 il EE 4:18.44| K& HC 4:25.89|ME EX 4:30.44|8K RN 4:33.11| 1§ KM 4:39.04|F8B 18 44542578 =3 5:00.66|mE m== 5-04.80
m
HrEH BB HrHM ke HFEHE HrHH HRH PR HrFH
9f19H 5000 fe4 R SXKEA 16:01.26| 24 BB 16:11.32|% 4  1EE 16:12.36|1c4 &K & 16:18.97| k& & 16:20.10|1485% R A 16:28.11]%% m=N 16:56.58|#E &S 17:16.18
m
HrEmm B < B AT HrH M HrFH BRI HFEHE N EmkEER HrFE B AR
FrREERAEK 42.63|HTFETFC-A 43.30(FFEE R 4740\ HEFEB A7.75|FrFEEC 48.36
HE H#E FE %K R EH BRE  BAM Ry +EB
9H19H | 4x100mR |22 B AR EKRER Ea:P NI = B BE HE B
FE EA AR BKRER FE M Ll N e RiE
Ty B =Y 2 BH EA =i e R B&
o FH =K 1.95|@F 18 1.92|{F%F AKX 174|538 # 1.65|RE K 1.65
9H19H Emk N N N N
S)lmbER FrHEMEm T REHmE FREPR HEH
9H19H - HE A w6.84 (+2.6) |BEE8 #E& 6.66 (+1.9)|F1E =F 6.28 (+2.0)|HEF sfE wb.87 (+2.4)| kM B& wh.79 (+2.2)| =% &t 5.53 (0.0)
; HrHEMEm FrREEEAL FFEMETFC FRHmE HREHmE FRHFBR
Fit =F 9.80
— 5T 9H19R | fahde |
FTFRETFC
R BH O ER 16.24 (-1.7)|[#k#E  "xiC 17.81 (-1.7) |1 EHE 17.98 (-2.6)|1BE (I h 18.17 (-2.6) [l =273F] 18.19 (-1.7)| i EHE 18.33 (-2.6)|1EBE FIE 19.40 (1.7 | BRI =58 19.46 (-1.7)
ANFAFELUT 7 | 9H19H 100m ) ) ) ) ) )
LIX7=TFC LIX7=TFC LIX7=TFC LIX7=TFC LIX7=TFC LIX7=TFC LIE7=TFC LIE7=TFC
. 800 HE EhaH 3:03.72|RAN 5 3:06.005H Z*k 3:07.89|#F &R 3:23.62|FJIl  EHE 3:25.08|FAEE  FAIRED 3:26.24|mpE A 3:35.35|MHE Fi% 3:51.08
m
LIE7=TFC LIE7=TFC LIE7=TFC LIE7=TFC LIE7=TFC LIE7=TFC LIE7=TFC LIE7=TFC
R 2y IHE 15.65 (-1.9) (Mg &t 15.96 (-1.4)| &8 #i% 15.98 (-1.4)|pER 2P 16.10 (-1.4)|g1A &z 16.11 (-1.9)|#% 5k #F=Z 16.85 (-1.9)[AMA Hk 16.99 (-1.4)|+% w= 17.31 (-1.9)
INES LS | 9H19H 100m i ) i i ) )
LIX7=TFC LIX7=TFC LIX7=TFC LIX7=TFC LIL7=TFC LIL7=TFC LIE7=TFC LIE7=TFC
9191 400 Bk BT 2:50.89|g1H == 2:58.35|FFE HAOD 3:00.72|RANI HE 3:01.04|% 8k ZFEZ 3:06.33|FEk BHE 3:18.27
m
LIE7TFC LIE7TFC LIE7TFC LIE7TFC LIE7TFC LiE7TFC
- 9191 100 g DR 14.22 (-2.8)|mH = 1431 (-2.8)|&5@ ®BE 14.42 (-2.8)|FEE ™3 14.78 (-1.5)[3z)Il < B & 14.83 (-1.5)|F;s5 A7 14.84 (-1.5)[%)11 PE 14.92 (-0.7)|B1E  Fik 15.07 (-2.8)
5 m
FERE-KEFH HFHEME-FE—rh HRH-AAF RH- =B+ HRH-AAF HRH- =BT HREH-AAF HREH-RER
. 800 EE E4 2:42.20|B1E Fik 2:46.41|13AK ¥R A 2:49.53|8REF LHE 2:53.89|BH FHZE 3:03.72
m
M- I=EH M- IREH HRE-LEFP HRH-F—F HRH-LEFP
0.3k 7 | 9A19H 100 FE R 1273 FON|EEH RZE 13.29 (-0.7)|RA HWBE 13.63 (-0.7)|E8 BR&E 14.14 (-1.3)|Bk B 14.41 (-1.3)[EZ8 2 1443 (-0.7) KT 2E 14.61 (-0.7)[ KB #HHFR 14.71 (-1.3)
2 m
FERME-KEFH GR|#HHE-F—r HRH-AAF HRE-LEFP HRH-RER HRH- =BT HFEH-FH HFH-FF
oA 198 800 i &3 2:33.18|fE8E K3 2:36.10|FEE EE 2:38.03[;E:& TR 2:43.90|FEE Ok 2:50.21118 &7 2:53.04| BB R% 2:53.07|M8 ETft 2:55.17
m
HFrHEM-IREH HrEM - AA HREH- =BT HRH-E4 AKP HRH-AALF HRH- =BT HFEH-AALF HREH-IRER




A -HFZ) 2020/9/19 FHE Tt A —
W4 BR2EHFEETRBAEE RS kB EHERE
iS4 FR E T A AR R FLER T e ]
F A4 FrEsHET B m ke LR e R b4 s Tk LS e
HfF &R 162 27 RYIVA ApL LA 6L e 8fiL
hE R 25.90 (-0.9) 2% RZx 27.19 (-0.9) BB EHiK 30.14 (-0.9)|FEE 3P 31.05 (-0.9)|m)Il Tk 3173 (-09)|KkE %EF 32.64 (-0.9)[AM & 35.29 (-0.9)
eIl L 9H19H 200m | - - N - N -
FHEB-REFF GR|FTHH-E—h GR[FT #H - =15+ FHRE- BT MFEH-F—F MFEH-F—F MFEH-KEFSH
A 19 1500 T RE 5:15.94| 1L &3 5:19.37[F8 Tk 5:21.68|FIEE  Ei 5:35.13[F2 4 5:37.96|(FBE O &V 5:38.95[%8 BWR 5:42. 20| =& =W 5:44.00
m
B ANF FFEB - IRET FFEM-E4 AT FHRB-REFF I -REF FE - AL B -KEFSH MFEH-KEFSH
HRE-KEFH 53.77|#FEH - AN FA 54.92|#FM - H—F 55.21| ¥ 5H - =15 55.88|#1FMH - T 57.59|FrHME - hnik) I 59.59|#FEH - A0+ B 1:02.36
EH Fi4tE Il K BHk Bk BTE g Fik 2 BE H+E ER REF R
9HI19H | 4x100mR [hE 3K BRI HEE e = B BEK KB WBER BRI #EE =28 1
B BE B e il sk AR ¥& NG HBRF] FEF Y T BR
il g HH BE 2% RBRE EES & KM OEHE LE305 4 AN HE
. 2 BE 1.35/N8  #F] 1.30
9H19H Empk | -
FrEE-EH FrEE-E=H
on1on | Himm B BRE 454 (+1.2)|%FE = 434 (+1.8)[ 1Ll R 411 (+1.8)| &M &7t w3.88 (+3.0)|E+&E =R 3.75 (+1.5)[#pAK E w3.59 (+2.5)|+E £V 358 (+1.7)|5EE L& 3.53 (+1.3)
; HRE - KEFH HFEBE-E—F MFEH-REFF MFEE-FE—F FFE- AR MFE-BHP FFEE- A #FEH R
T 2 BE 9.15|/h#k  #5FE 7.80[;%8 1A4E 7.63|RMA B 6.92|mig #HHX 6.20(T HEx 6.19)/\#k  FE 5.84| LB BBZE 5.69
&}
HFEE-RF HRE-KEFH MFEH-REFF MFEHE-FE—F FH-REF FFEH-EF MFEE-LEFSH #FEH R
EA e 18.07|/\k  BHE 17171 R8N 8B 15.49
9H19H Mg | N N
HHRE-KEFH HRE - KEFH FHE-REF
N O =3 12.92 (-1.6)|BiL R 14.22 (-1.6) [}k < B & 15.36 (-1.6)
i ik | 9H19A 100m | - N N
FrmEREEL | WRER
9H19H 400m
%k %E 241.40(R% ME 2:47.55
9H19H 800m
#FH FrHH
9H19H 3000m
Bl HR 4.40 (+1.2
9H19H | sk | f 12
FrHH

w (wind assist) : JBESE

#NAME?




